
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 13,144,986,715   1= ljb]zL d"b|f / ;]So"l/^L 453,713,832,000

2= rng rNtLdf /x]sf] gf]^ 440,568,845,285

hDdf lgisflzt gf]^ 453,713,832,000

hDdf bfloTj 453,713,832,000   hDdf ;DklQ 453,713,832,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 13,144,986,715
2 ;fwf/)f hu]*f sf]if 21,734,999,885   2  /]RsL -
3 df}lb|s bfloTj sf]if 4,197,513,998   3  ljb]zL d"b|f 21,201,231,392
4 ljsf; sf]ifx? 18,951,283,991   4  ljb]zL a}+s df}Hbft 80,782,371,576
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 1,172,574,862
6 ;^xL ;lds/)f sf]if 58,821,697,889   6  ljb]zL a)* 130,496,223,878
7 ;"grf¤bL ;lds/)f sf]if 6,312,087,397   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 71,897,056
9 lgIf]k      -v_ ljb]zL 52,020
   -s_ g]kfn ;/sf/ 301,887,263,589   8  nufgL
   -v_ afl)fHo a}°x? 91,130,242,793      s= ljb]zL ;]So"l/^L 289,411,933,309
   -u_ ljz]if lgIf]k 100,000,000      v= g]kfn ;/sf/sf] ;]So"l/^L 36,674,313,595
   -#_ cGo 36,988,697,103      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 3,548,585,870
10 e"QmfgL lbg"kg]{ lan 470,840,497      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 9,933,211,809      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 72,020,793,494      v= jfl)fHo a}+sx?nfO{ 12,940,445,156

     u= ljQLo ;+:yfx?nfO{ 403,796,541
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,008,943,239
  10 ;"g df}Hbft 1,546,350,027
  11= cGo ;DklQ 32,114,216,587

hDdf OSjL^L tyf bfloTj 627,548,921,823   hDdf ;DklQ 627,548,921,823
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